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PRESENT FUTURE

= 3 trees

= 7 trees

= 81 trees

=  25 trees

=  34 trees

=  494 trees

Per capita 
footprint: 
10.4 tons 
CO2 / year 

Per capita 
footprint: 
54.66 tons 
CO2 / year 

There is a significant difference between my current and future carbon footprints 
because my future footprint accounts for a sum of 6 people. Hence more activities are 
bound to occur in other to sustain the family which would eventually lead to a 
greater amount of carbon footprint as shown in the figures above. Currently, as a 
college student, my travel rate is currently low, but however, I intend to travel a lot 
more in the future which again will add to the overall carbon emission of my future 
household. 
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